import pandas as p
import seaborn as s
import numpy as n

data Source = p.read csv("/content/titanic.csv")
data Source.head()

PassengerId Survived Pclass \

0 892 0 3
1 893 1 3
2 894 0 2
3 895 0 3
4 896 1 3
Name Sex Age SibSp
Parch \
0 Kelly, Mr. James male 34.5 0
0
1 Wilkes, Mrs. James (Ellen Needs) female 47.0 1
0
2 Myles, Mr. Thomas Francis male 62.0 0
0
3 Wirz, Mr. Albert male 27.0 0
0
4 Hirvonen, Mrs. Alexander (Helga E Lindqvist) female 22.0 1
1
Ticket Fare Cabin Embarked
© 330911 7.8292 NaN Q
1 363272 7.0000 NaN S
2 240276 9.6875 NaN Q
3 315154 8.6625 NaN S
4 3101298 12.2875 NaN S
data Source.tail()
PassengerId Survived Pclass Name
Sex \
413 1305 0 3 Spector, Mr. Woolf
male
414 1306 1 1 Oliva y Ocana, Dona. Fermina
female
415 1307 0 3 Saether, Mr. Simon Sivertsen
male
416 1308 0 3 Ware, Mr. Frederick
male
417 1309 0 3 Da vinci

female
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data Source.columns

Index ([ 'PassengerId’,

'SibSp’,
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SN oNoNoNO)

ch', 'Ticket',

SN oNoNoNo)

dtype='object')

data_Source.shape
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12)

data Source.describe()
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urvived Pclass Age
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Cabin 326
Embarked 1
dtype: int64

s.relplot(x="Name', y='Age',data=data Source)

<seaborn.axisgrid.FacetGrid at 0x7face7a60050>

Mame

s.relplot(x="'PassengerId', y='Name',data=data Source)

/usr/local/lib/python3.7/dist-packages/seaborn/axisgrid.py:88:

UserWarning: Tight layout not applied. The left and right margins

cannot be made large enough to accommodate all axes decorations.
self. figure.tight layout(*args, **kwargs)

<seaborn.axisgrid.FacetGrid at 0x7faceca01090>
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s.relplot(x="'Ticket', y='Name', data=data Source)

/usr/local/lib/python3.7/dist-packages/seaborn/axisgrid.py:88:

UserWarning: Tight layout not applied. The left and right margins

cannot be made large enough to accommodate all axes decorations.
self. figure.tight layout(*args, **kwargs)

<seaborn.axisgrid.FacetGrid at Ox7face6c2f610>
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s.relplot(x="'Pclass', y='Cabin',data=data Source)

<seaborn.axisgrid.FacetGrid at 0x7face6bf5590>
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s.relplot(x="'Name', y='Fare',data=data Source)

<seaborn.axisgrid.FacetGrid at 0x7face623fel0>
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Mame

s.relplot(x="'PassengerId', y='Name', hue='Ticket',data=data Source)

/usr/local/lib/python3.7/dist-packages/seaborn/axisgrid.py:88:

UserWarning: Tight layout not applied. The left and right margins

cannot be made large enough to accommodate all axes decorations.
self. figure.tight layout(*args, **kwargs)

<seaborn.axisgrid.FacetGrid at 0x7face59fael0O>
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from sklearn.linear model import LinearRegression
from sklearn.model selection import train test split

train=data Source.drop([ 'TotalOrgsWorked', 'Attrition', 'LastPromotionYe
ars', 'AverageFeedback', 'LastPayIncrementBand'], axis=1)
test=data Source[ 'EmployeeID']

X train, X test,Y train, Y test= train test split(train, test,
test size=0.4,random state=2)

regre=LinearRegression()
regre.fit(X train, Y train)
LinearRegression()
predct=regre.predict(X test)
predct

array([ 38., 727., 847., 296., 925., 659., 683., 287., 881l., 273.,
138.,
955., 516., 789., 861., 641., 738., 684., 413., 72., 214.,

o8- 232., 857., 198., 640., 377., 193., 100., 679., 651., 224.,
200+ 749., 463., 147., 21., 898., 547., 647., 688., 936., 822.,
4 500., 371., 597., 887., 795., 914., 16., 758., 445., 331.,
ore- 985., 544., 526., 165., 864., 183., 928., 102., 579., 186.,
09 616., 550., 339., 323., 280., 289., 252., 989., 237., 509.,
e 932., 231., 622., 728., 233., 833., 410., 798., 144., 907.,
o8- 200., 66., 180., 281., 831., 743., 464., 159., 716., 882.,
55 519., 654., 259., 952., 397., 558., 835., 433., 427., 523.,
205 733., 699., 8., 913., 581., 194., 692., 557., 686., 841.,
e 466., 975., 665., 268., 213., 888., 424., 294., 828., 816.,
o 613., 870., 653., 90., 142., 419., 311., 734., 482., 240.,
e 376., 313., 399., 456., 364., 829., 849., 615., 930., 398.,
222" 415., 380., 292., 75., 227., 487., 334., 85., 481., 695.,

210., 143., 251., 926., 356., 577., 389., 536., 830., 465.,
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.score(X test, Y test)
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